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Product information

H39
Product Name
HIZEAH(S=SLA)

manufacturer

0| Y1 E®(Black rice cake with white bean paste)

NEEJTELTED

+ HI&%Y Product name :
Mochi vanille

¢ HIZAF manufacturer :
Carrefour

ANE SAHIE
Similar products on the

¢ OHE=2DJF BEHOHOLH
market

Selling price in the country :

4.59 EUR

OHBIHAE =& 20 € SEL =

Date of consumer’s survey and numbers of respondents
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Date of survey 33 198 =

€2 SEA = 204
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Number of respondents
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Analysis result

AMHIXF 88 / Consumer type
oY =
Gender Age
male 8% 20s : 2/ 30s : 2/ 40s+ : 4
female 129H 20s : 5/ 30s : 5/ 40s+ : 2
KIZ =IO (1) / Product evaluation
&6
=N =N E 2=0ICH =0 O =0
Strongly Oisagree Neutra Agee Strongly agree
disagree
WIIX d5% 301 100 704
Package preference
Al X O|AF
}".ﬁ - s 154 5%
Impression before eating
Al & I
MT o =k : 59 159
Evaluation after eating
diolgl o
“. l : . 159 49 19
Naming evaluation
d8d SH 5 152
Productivity evaluation
4 I
.7“ °j+. 19 19 189
Price evaluation
M= Tl (2) / Product evaluation
B3I A &F/ M Al
ClXtQl (Flavor/ (Food 2 Hiojal Jr=A |
(Package (Taste) | (Naming) | (Price) (Other)
. Scent) texture)
design)
OI= Q0 (18%)
Satisfying factor 43 133 13
E20LE QoI (29) ooy
Unsatisfying factor <
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